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1. Express a speed of 30 m/s in km/h.
km/h3Q 30 m/s afeﬁdﬁ.& dgé&&.

(a) 100 km/h (b) 120 km/h
(c) 110 km/h (d) 108 km/h

2. Aditya covers 200 km in 25 h. Find the speed of
Aditya.

803 25 noedn¥vd 200 3.ce. Sl Ry Seresy,
FoRHAMWO.

(a) 10 km/h
(c) 12 km/h

(b) 8 km/h
(d) None of these

3. A motorcycle travelled 1000 m at 36 km/h. Find the
time (in seconds) taken by the motorcycle to cover this
distance.

2003 BReEIVTE &’ésef noe3rt 36 3e derﬁcseg
1000 cve. 85 TPTSIY &eDIwW S0eEF0 T B

Brichdeod IDALSY, (JVB0EFNHY). Bo&EAD.

[RRB ALP 2019]
(a) 100
(c) 300

(b) 400
(d) 200

4. An aeroplane flies at the speed of 50 m/s. How much
distance (in km) will it cover in a flight of 5 h?

200 AR 50 m/s BT TDIA. 5 roedny

TooeIB) O  oR),  BeCSRY  (3Lervd)
BDIT? [RRB ALP 2018]

(a) 895 (b) 900

(c) 880 (d) 850

5. A bus moving at 40 km/h covers a distance in 6 h 15
min. If it travels the same distance at 50 km/h, how
long will it take to cover the distance?

noedri 40 3cve Jend) BODS wxf 6 roed 15
ADRINYY BRSST), FDDIE. wde TRIIIY,

noedrt 50 dce Sende 8cATT, BRTSY, LB

om) Sab SriPEew33?  [SSCCPO 2018]
(a)4h (b) 2 h
(©5h (d)6h

6. A, Band C go on a trip by a car. A drives during the
first hour at an average speed of 50 km/h. B drives
during the next 2 h at an average speed of 48 km/h. C
drives for the next 3 h at an average speed of 52 km/h.
They reached their destination after exactly 6 h. Their
average speed was

Q, WYOTF D 50X Fwewsd Jwesd, BeerHzad. A
Sedw roedab® Joemd 50 km/h SeRTY LAIT.
SO 2 RoLdNYe) TTeRO 48 km/h Seride Bdrives.
C S0 3 Rodn¥a3r Foemd. 52 km/h SFen3O
LEDBS. WD JON 6/ NoedInyY Jo33 I,

ﬁdjém@ddai& 3WIBTD. ©WIT V0RO 3en
B30RHAA0.

1
(a) 50 km/h (b) 50 5 km/h

(c) 51 § km/h (d) 52 km/h

7. A person travels from P to Q at a speed of 40 km/h
and returns at a speed of 60 km/h. What is his average
speed for both the trips?

W) 3y P od Qi 40 km / h Sendd
ZARSDZNS DR 60 Send
H03DNTIN. VAR Baberntert xS [oeRO

km / h

St ox)?
(a) 36 km/h (b) 45 km/h
(c) 48 km/h (d) 50 km/h
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8. Pranav walked at 5 km/h for certain part of the
journey and then he took an auto for the remaining
part of the journey travelling at 25 km/h. If he took 10
h for the entire journey, what part of journey did he
travel by auto if the average speed of the entire journey
be 17 km/h?

BT B0t d ABE, wWertd, 5 3ce / o IBTD
B JF038 eID 25 3be / no Jodreeddha
D008 BVPT orid, wedeedRY, ISrTHER0BD.
3D Jozper Bodeed, 10 rodd SrDBe0ET,
28¢e B0dretad Foemd dert roedrt 17 3e 8NZ3

O3B e Dobed  wenas) - etdeedd
D) 0063 BD? [IB Security Assist. 2017]
(a) 750 km (b) 200 km

(c) 150 km (d) 200 km

9. If a man covers 1/4 th part of his journey at 5 km/h,
1/5 of this journey at 10 km/h and-remaining journey
at 15 km/h, then what will be the average speed of the
man?

W) DIFR 3F Bodeend | 1/4° Se Jana:y -5
doe / ro, 8 @abeead 1/5 oy 10 3de / no
D) BLPT Byodreesd Y, 15 dcbe / Mo BMITT,

81 DIRS Joe0 St aR),?

(a)78 ()98
(87 (d)o

10. A boy goes to school with a speed of 2 km/h and
returns with a speed of 3 km/h. If he takes 2 h 30 min
to go to school and return, then what is the distance
between his school and home?

22 AN noedn 2 3e derﬁzﬁeﬁ)m 200313
BeebEys DR nogdrt 3 dde  Fenide)

HOBWNHBIN. B Tt @eeN Hodhriew 2 no

30 Adz SRDBe0RET, BT T8 DA DIab

SRS @033 o:)?

(a) 6 km
(c) 4 km

[MP Patwari 2017]

(b) 5 km
(d) 3 km

11. A and Bare at a distance of 1.7 km apart and they
start running towards each other at a speed of 8 m/s
and 9 m/s, respectively. After how much time, will they
meet each other?

O D) 2JeTf 1.7 3de 90333 DR) B BN
8 e/ DF) 9 /I IendY SIVI3 LBWw
D9B0DBS. @), JFHB F0BT, VSDH ITIT

(ARXWplaVplelonlyy [SSC CPO 2019]
(@)1 min40s (b)1 min4s
(c) 14 min (d)14s

12. If a boy walks from his house to school at the rate
of 4 km/h, he reaches the school 10 min earlier than
the scheduled time. However, if he walks at the rate of
3 km/h, he reaches 10 min late. Find the distance of his
school from his house.

Wy BBDR B DIWoB Fodrt roedrt 4 Scbe
Jentd) IBFT, SR ANOS JIHabd,038 10 A
SwodBmN T BwRBR. esmmé, 9D
noedt 3 3e Jend) JEFT, 3D 10 A
3BT BOPYTIN. ¥BTI DIAT BT Teejab

BRTBY, B0HAN0. [SSC CGL 2013]
(a) 5 km (b) 4 km
(c) 6km (d) 4.5 km
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13. A thief steals a car at 2:30 pm and drives it at 60
km/h. Theft is discovered at 3 pm and the owner sets
off another car at 75 km/h. When will he catch the
thief?

s%j)airaa% domzs@ 2:3086 &d@( sz:% 60 3.ve.
d)méaé( 3 rogdrt 393 SSaeNd @) Sredesdh
B30 mdmd not3rt 75 3.e. 93D s%gxsqu

rezent HBWVTIN?

(a) 4 pm
(c)5 pm

(b) 4:30 pm
(d) 5:30 pm

14. A policeman runs to catch a thief spotted at a
distance of 200 m. If the thief can cover the distance of
1 km in 10 min and policeman can cover the same
distance in 8 min, then find the distance travelled by
thief before he caught.

w2y @O’ 200 e WHORY BHURNY BBADLY
Lrbead. BYRD 1 8.be GeoaRy, 10 ADIAYO
DR FeOeT Tt TOOTRY 8 ADTNVY BT
PEET, YD LB Iedwy ez

@) 00e308 BRTBRY, 0WDHBANO.

(a) 600 m (b) 800 m
(c) 400 m (d) 1000 m

15. Piyush is running at the speed of 8 km/h and he
stops for 5 min to take rest at the end of every 3rd km.
What will be the time taken by Piyush to cover a
distance of 56 km?

S roedrt 8 e et LBDATT D) B3
3 e e ZoadY 7308 Sdoben 5 AVIMY
20 A0, 56 e CROFRY, ATy dahea®

SrDEeWNS Todh om),?  [SSC Constable 2019]
(a)7h (b) 8 h 20 min
(c) 8h (d) 8 h 30 min

16. Without stoppage, the speed of a bus is 54 km/h
and with stoppage, it is 45 km/h. For how many
minutes, does the bus stop per hour?

ANd 3, WIS Jenxy 54 e / no DR

Qeniddadeod, awh 45 e / ro. B8 roddrt o),
AR T ANBT?

(a) 15 min
(c) 10 min

(b) 9 min
(d) 6 min

17. A man walking with 3/4 of his usual speed, reaches
office 20 min late. His usual time is

) B30 BT Toees; Send 3/4 T, IEAWSy,
20 AWz SBeN BeJeDADR), BTN, BT

mdma% [odh BoDHEMO.  [SSCMTS 2013]
(a) 50 min (b) 80 min
(c) 70 min (d) 60 min

18. Two buses set out from two stations A and B, one
from station A towards B and other from station B
towards A. After passing each other, they complete
their journey in 49 h and 36 h respectively. What is the
ratio of speed of both buses?

AR WIND A DI B OT@D dUeneod
BRORDIBS, WO AU A Jod B 3B DB
QR0 BB ABER. SCIT Horh@ees S03T,
oY) BN 49h D) 36 hRYY S, @006,
DPREMRPPDBS. A0RR WINY Iend  dH3

OR)?
(a)3:4 (b)7:6
(c)6:7 (d)4:3

Pa

Copyright © All Rights Reserved | https://www.spardha.guru

pe | 3

www.spard-ha.guru

No 8, 24th Block Manasi Nagar Beside of Bliss
serviced Apartment, Mysuru, Karnataka 570029

info@spardha.guru
90711 54445, 90711 64446, 90711 74447



